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                              Section – A (Language)
 

 

 

3. The meaning of DELIGHT is - 
(A) pleasure (B) sorrow 
(C) soft (D) bright 

 

4. Which car is not runs as per the 
norm? 
Which part of this sentence has an error? 

(A) Which car (B) is not 
(C) runs as per (D) the norm 

 

 

 

 

 

8. ‘इच्छा’ के विपरीत अर्थ िाला शब्द क्या ह ै 

(A) अविच्छा (B) आत्मज 

(C) अिीचा (D) अिुज्ञा 

 

9. ‘िाक के बाल होिा’ का अर्थ ह-ै 

(A) िाक खराब होिा  (B) बहुत परेशाि होिा 

(C) बहुत प्यारा होिा (D) दशु्मि होिा 

 

 

                                                                        Section – B ( SST and GK )

                         

 

11. In the given map of 
India, if a person 
wants to travel from 
one black dot to the 
other black dot by a 
plane, he will cross 
over - 

(A) Bay of Bengal (B) Arabian Sea 
(C) Eastern Ghats (D) Western Ghats 

 

11. भारत के दिए गए मानदित्र मे 

यदि एक व्यदि एक काले द िंिु 

वाले स्थान से िूसरे काले द िंिु 

वाले स्थान तक हवाई जहाज 

से यात्रा करता है तो वह इसे 

पार करता है- 

(A)  िंगाल की खाड़ी (B) अर  सागर 

(C) पूवी घाट (D) पदिमी घाट 

 

 

 

 

 

1. A student should prepare his 
lessons on advance. 
Which part of this sentence has an error? 

(A) A student (B) should prepare 
(C) his lessons (D) on advance. 

2. Plural of CROWD is - 
(A) CROWD (B) CROWDS 
(C) CROWDES (D) none 

5. इिमे से वकसका अर्थ -पति होिा -है 

(A) अविग्रह (B) अििवत 

(C) अघ्रहण (D) अविज्ञाि 

6. ‘आगमि’ शब्द का विपरीत शब्द ह ै- 

(A) अवियुवि (B) स्िागतम 

(C) अपथण (D) प्रस्र्ाि 

7. A sentence with the word – HOW MANY, 
is - 

(A) How many   
rooms are there? 

(B) How many is 
the milk ? 

(C) How many are 
the pencils? 

(D) How many  
buildings are 
here? 

10. Which is an adjective ? 
(A) desert (B) measure 
(C) sweep (D) broken 
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12. The head of a state of India is  - 
(A) Chief Minister of 

the state 
(B) Governor of the 

state  
(C) President of India (D) Primeminister 

of India 
 

13. Which is not correct about the plate 
tectonic theory? 

(A) The earth’s crust 
is broken into 
pieces. 

(B) Below these 
pieces is water 

(C) Origin of Some 
mountains and 
oceans are 
explained by  the 
theory 

(D) These pieces 
are in 
continuous 
motion on the 
magma 

 

14. Which is not an archaeological source of 
history? 

(A) Inscriptions  (B) Coins  
(C) Autobiography  (D) Weapons  

 

 

16. Thomas cup is related to- 
(A) Cricket (B) Badminton 
(C) Javelin throw (D) Volleyball 

 

17. Which country is not a permanent 
member of UN Security Council 

(A) Russia (B) France 
(C) China (D) India 

 

18. A general election for voting for an MP 
means to vote for - 

(A) The constitution 
of Lok Sabha 

(B) The constitution 
of Rajya Sabha  

(C) Election of 
governor 

(D) Election of 
president 

 

19. Mahatma Gandhi was born in  - 
(A) Rajsthan  (B) Gujrat 
(C) Haryana (D) Maharashtra 

 

12. भारत के एक राज्य का मुख्य कौन होता है- 

(A) राज्य का मुख्यमिंत्री (B) राज्य का राज्यपाल 

(C) भारत का राष्ट्रपदत (D) भारत का प्रधानमिंत्री 

 

13. प्ले टेक्टोदनक दसद्ािंत के  ारे में क्या सही नहीं है? 

(A) दपता का क्रस्ट टुकड़ा में 

 िंटा हुआ है. 

(B) इन टुकड़ों के नीिे 

पानी है 

(C) कुछ पववतों और 

महासागरों की उत्पदि 

इस दसद्ािंत द्वारा 

समझाया जाता है 

(D) ये टुकड़े मैग्मा के ऊपर 

लगातार गदत में है 

 

14. कौन इदतहास का एक पुरातदत्वक स्रोत नहीं है? 

(A) पत्थरों पर उत्कीर्व लेख (B) दसक्के 

(C) आत्मकथा  (D) हदथयार 

 

15. कौन राज्य दहिंि महासागर के तट के साथ अपनी सीमा 

नहीं  नाता है? 

(A) तेलिंगाना (B) ओदिशा 

(C) केरला (D) तदमल नािु 

 

16. थॉमस क  दकससे सिं िंदधत है- 

(A) दक्रकेट (B)  ैिदमिंटन 

(C) जैवदलन थ्रो (D) वॉली ॉल 

 

17. कौन िेश सिंयुि राष्ट्र के सुरक्षा पररषि का अस्थाई सिस्य 

नहीं हैं 

(A) रूस (B) फ्ािंस 

(C) िीन (D) भारत 

 

18. सािंसि के सिस्य के दलए आम िुनाव द्वारा दकसके दलए 

वोट दकए जाते हैं- 

(A) लोकसभा के गठन के 

दलए 

(B) राज्यसभा के गठन के 

दलए 

(C) राज्यपाल के िुनाव के 

दलए 

(D) राष्ट्रपदत के िुनाव के 

दलए 

 

19. महात्मा गााँधी का जन्म दकस राज्य में हुआ था- 

(A) राजस्थान (B) गुजरात 

(C) हररयार्ा (D) महाराष्ट्र 

 

 

 

 

15. With which state, the coast of Indian 
Ocean does not make a boundary? 

(A) Telangana (B) Orissa   
(C) Kerala (D) Tamil Nādu 
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20. The expanded for of  RBI is - 
(A) Reserve Bank of 

India 
(B) Republic Bank 

of India 
(C) Real Bank of 

India 
(D) Radical Bank of 

India 
 

20. RBI का दवस्तार है - 

(A) Reserve Bank of 

India 

(B) Republic Bank of 

India 

(C) Real Bank of India (D) Radical Bank of 

India 

 

                                                                         Section – C (Science)

 

22. Which is not a synthetic fibre? 
(A) polyster (B) terylene.  

(C) nylon (D) jute 

 

23. Which molecule has not exactly two 
atoms? 

(A) oxygen (B) hydrogen 
(C) phosphorous (D) nitrogen 

 

24. Which is not a correct pair of organic acid 
and it’s source? 

(A) Lactic acid - curd (B) Acetic acid - 
vinegar 

(C) Citric acid – 
orange 

(D) Formic acid – 
amla 

 

25. What is not correct about pH scale? 
(A) Acidic nature 

decreases with 
increasing value  

(B) For pH=7 acidic 
nature  
becomes zero 

(C) The value range 
on the scale is 
from -14 to 14 

(D) none 

 

26. The flow of charge in a circuit means -. 
(A) the flow of 

electrons  
(B) the flow of 

protons 
(C) the flow of atoms (D) the flow of 

neutrons 
 

27. Planets of solar system receive solar heat 
through the mode of  - 

(A) conduction (B) radiation 
(C) convection (D) none 

 

21. दलवर के सिं िंध में असत्य कथन क्या है? 

(A) यह मानव शरीर की 

स से  ड़ी ग्रिंदथ है 

(B) इससे  ाइल जूस 

दनकलता है 

(C) यह गॉल ब्लािर के 

अिंिर रहता है 

(D) गॉल ब्लािर  ाइल 

को जमा रखता है 

 

22. कौन दसिंथेदटक  रेशा के  ारे मे सही नहीं है? 

(A) पॉदलस्टर (B) टेरी दलन 

(C) नायलॉन (D) झूठ 

 

23. दकस  अरु् के पास ठीक िो परमारु् नहीं है? 

(A) ऑक्सीजन (B) हाइड्रोजन 

(C) फॉस्फोरस (D) नाइरोजन 

 

24. इनमें से कौन ओगेदनक अम्ल और इसके स्रोत का सही 

जोड़ा नहीं? 

(A) लैदक्टक अम्ल- िही (B) एदसदटक अम्ल - 

दवनेगर 

(C) साइदरक अमला – 

नारिंगी 

(D) फादमवक अम्ल - 

आाँवला 

 

25. pH स्केल के सिं िंध में क्या सही नहीं है? 

(A) इसके  ढ़ने से आम्लीय 

गुर् घटता है 

(B) pH=7 दलए आम 

दलए गुर् शून्य 

(C) ग्लूकोज और  ालू (D) कोई नहीं 

 

26. दकसी दवद्युत पररपथ में आवेश प्रवादहत होने का अथव है - 

(A) इलेक्रॉन का प्रवाह (B) प्रोटोन का प्रवाह 

(C) परमारु् का प्रवाह (D) न्यूरान का प्रवाह 

 

27. सौर मिंिल के ग्रह सूयव से सोलर उष्ट्मा  प्राप्त करते हैं - 

(A) िालन (B) दवदकरर् 

(C) सिंवहन (D) कोई नहीं 

 

 

21. Choose incorrect statement about liver -  
(A) It is the largest 

gland in our body 
(B) It secretes bile 

(C) It lies inside gall 
bladder 

(D) Gall bladder 
stores bile 
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28. What is the value of 50 degree Celsius of 
temperature in Fahrenheit scale? 

(A) 102 (B) 120 
(C) 122 (D) 124 

 

29. What happens in erosion? 
(A) Weathered 

material gets 
melted 

(B) Weathered 
material is 
transported 

(C) Weathered 
material is 
solidified 

(D) none 

 

30. Kidney and urethra are organs of- 
(A) Digestive system (B) Nervous system 
(C) Skelton system  (D) Urinary system 

 

31. See 
the 
bulbs 
in the 
circuit 

carefully and choose the correct option. 
(A) Only one bulb is 

glowing 
(B) Both bulbs are 

glowing 
together 

(C) Both bulbs are 
glowing  
alternately 

(D) None of the 
bulb is glowing. 

 

32. When a conducting wire is wrapped over 
a piece of soft iron rod, the rod behaves 
like a magnet if - 

(A) The two ends of 
the wire is 
connected with a 
source of 
electricity 

(B) The two ends of 
the rod is 
connected with 
a source of 
electricity 

(C) The two ends of 
both the wire 
and the rod  are 
connected with a 
source of 
electricity 

(D) none 

 

 

 

28. 50 दिग्री सेदससयस तापमान का फ़ारेनहाइट दस्कल पर 

मान क्या होगा? 

(A) 102 (B) 120 

(C) 122 (D) 124 

 

29. अपरिन मे क्या होता है? 

(A)  अपक्षदयत सामग्री 

दपघल जाती है 

(B) अपक्षदयत सामग्री का 

पररवहन होता है 

(C) अपक्षदयत सामग्री जम 

जाती है 

(D) कोई नहीं 

 

30. दकिनी और यूरेथ्रा दकस तिंत्र का अिंग है? 

(A) पािन तिंत्र (B) तिंदत्रका तिंत्र 

(C) किं काल तिंत्र (D) यूररन तिंत्र दजया 

धड़क 

 

31. इस 

दवदु्यत 

पररपथ 

में  स  

को 

िेदखए और सही दवकसप िुदनए । 

(A) दसफव  एक  स  जल 

रहा है 

(B) िोनों  स  साथ 

साथ जल रहा है 

(C) िोनों  ल  ारी  ारी से 

जलता है 

(D) कोई  स  नहीं जल 

रहा है. 

 

32. ज  ज  एक िालक तार को एक मलुायम लोहे के छड़ 

के टुकड़े पर लपेटा जाता है तो यह िुिं क की तरह 

व्यवहार करने लगता है यदि 

(A) िालक तार के िोनों 

छोरों को द जली के 

स्रोत से जोड़ दिया 

जाए 

(B) लोहे के छड़ के िोनों 

छोरों को द जली के 

स्रोत से जोड़ दिया 

जाए 

(C) िालक तार और लोहे 

के छड़ िोनों के िोनों 

छोरों को द जली के 

स्रोत से जोड़ दिया 

जाए 

(D) कोई नहीं 
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33. A molecule has chemical formula aXY3. 
This shows that the total number of 
atoms is - 

(A) 1 (B) 3 
(C) 4 (D) 6 

 

34. 

 
Related to this distance -time graph 
which is not correct. 

(A) Motion is 
uniform 

(B) Speed is 
constant 

(C) distance 
travelled during 
10s to  15s  is 
20m 

(D) distance 
travelled during 
15s  is 60m 

 

35. A car travels 15 km in 20 minutes. It takes 
a rest for 20 minutes. Again it travels 15 
km in 20 minutes. The average speed of 
the car is - 

(A) 15 km/h (B) 30 km/h 
(C) 45 km/h (D) 60 km/h 

 

36. What is correct about light? 
(A) A light ray can 

travel through an 
opaque material. 

(B) A light ray can 
make a shadow 
if fallen on 
transparent 
material 

(C) A light ray 
contains energy 

(D) An image is 
formed by only 
the reflected 
ray of light. 

 

37. An object is brought to near a magnet. An 
iron gets repelled by the object. The 
conclusion is that the object is made of- 

(A) wood. (B) plastic 
(C) paper  (D) none 

 

 

 

33.  एक अरु्  का रासायदनक सूत्र  𝐗𝐘𝟑. है । इससे स्पष्ट है 
दक इसमें कुल परमारु् ____है । 

(A) 1 (B) 3 

(C) 4 (D) 6 

 

34. 

 
िूरी-इस समय के इस ग्राफ के सिं िंध मे  क्या सही नहीं है. 

(A) गदत एक समान है (B) िाल दस्थर है 

(C) 10 सेकिं ि और 15 

सेकिं ि के  ीि तय की 

गई िूरी 20 मीटर है 

(D) 0 सेकिं ि और 15 

सेकिं ि  के के  ीि टैग 

की गई िं िूरी 70 मीटर 

है 

 

35. एक कार एक यात्रा का 15 km िूरी 20 दमनट में तय 

करता है। यह 20 दमनट का दवराम लेता है। दफर 15 km 

की िूरी 20 दमनट में तय करता है। कार का औसत िाल 

क्या है 

(A) 15 km/h (B) 30 km/h 

(C) 45 km/h (D) 60 km/h 

 

36. प्रकाश के सिं िंध में क्या सही है? 

(A) अपारिशी वस्तु के आर 

पार यह गुजर सकती है. 

(B) पारिशी वस्तु पर 

टकराने से यह छाया 

 नाती है 

(C) प्रकाश की दकरर् 

आपके पास ऊजाव होती 

है 

(D) दसफव  परावदतवत 

दकरर्ों से दकसी वस्तु 

का द िं   नता है 

 

37. एक वस्तु एक िुिं क गरी  लाया जाता है। उस वस्तु 

द्वारा एक लोहा को दवकदषवत दकया जाता है। दनष्ट्कषव 

यह है दक वस्तु ___ का   ना हो सकता 

(A) लकड़ी  (B) प्लादस्टक 

(C) कागज (D) कोई नहीं 

 

 

 



                                                                                                     
 

6 | P a g e  
 

                                                                                 
SMILE School Banka, www.smileschool.in STARS – 2023  CLASS VIII 

38. A object is at 
the centre of 
curvature in 
front of a 
concave 

mirror. The nature of image is -  
(A) inverted (B) real 
(C) both (D) none 

 

39. A concave lens forms an image always  
(A) real. (B) imaginary 
(C) Some time real 

and sometime 
imaginary 

(D) none 

 

40. Which has no role in movement of our 
body parts? 

(A) Bone joints (B) Contraction of 
muscles 

(C) Expansion of 
muscles  

(D) None 

 

38. एक वस्तु एक 

अवतल िपवर् 

के सामने उसके 

 कता कें द्र पर 

है। उसके 

प्रदतद िं  की प्रकृदत क्या है-  

(A) उसटा (B) वास्तदवक 

(C) िोनों (D) कोई नहीं 

 

39. एक अवतल लेंस में  नने वाले द िं  का प्रकृदत कैसा 

होता है 

(A) वास्तदवक (B) कासपदनक 

(C) कभी कभी वास्तदवक 

और कभी कभी 

कासपदनक 

(D) कोई नहीं 

 

40. हमारे शरीर के अिंगों  की गदतदवदध कराने  में दकसकी 

भूदमका नहीं है? 

(A) हि्िी का जोड़ (B) मॉसपेशी का सिंकुिन 

(C) मािंसपेशी का फैलाव (D) कोई नहीं 

 

                                                                   Section D (Reasoning and logic)

 

41. A is the husband of B. B is the mother of 
C. C is not the son of B. C is the ______ of 
A 

(A) son (B) daughter 
(C) grand son (D) grand daughter 

 

42. Shashi is moving towards west. He takes 
one right turn and again one more right 
turn. He walks for some distance and 
takes a left turn. In which direction is he 
looking now? 

(A) north (B) south  
(C) east (D) west 

 

43. By what wangle should the first picture 
be rotated to obtain the second picture? 

                 
(A) 900 clockwise (B) 450 clockwise 
(C) 900 anti 

clockwise 
(D) 450 anti 

clockwise 
 

41. A, B का पदत है। B, C का माता है । C, B का पुत्र 

नही है।  C, A का    ______  है. 

(A) पुत्र (B) पुत्री 

(C) पोता (D) पोती 

 

42. शदश पदिम की ओर िल रहा है। वह िादहने मुड़ता है, 

और पुनः एक  ार िादहने मुड़ता है। वह थोड़ी िूर िल 

कर  ाएाँ मुड़ता है। अ  वह दकस दिशा में िेख रहा है? 

(A) उिर (B) िदक्षर्  

(C) पूर  (D) पदिम 

 

43. िुसरी तस्वीर प्राप्त करने के दलए पहली तस्वीर को दकस 

कोर् से घुमाया जाना िादहए? 

                 
(A) 𝟗𝟎𝟎

 clockwise (B) 𝟒𝟓𝟎
 clockwise 

(C) 𝟗𝟎𝟎
 anti clockwise (D) 𝟒𝟓𝟎

 anti 

clockwise 

 

 

 

F C 

 

F C 
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44. Which is different  
(A) potato (B) carrot 
(C) ladyfinger (D) tomato 

 

45. If ‘light’ is related to ‘bulb’ then 
‘electricity’ is related to - 

(A) heater (B) power plant 
(C) train (D) wire  

 

46. Which letter is in between the seventh 
letter from left and eighth  letter from 
right in English alphabet.  

(A) L (B) M 
(C) N (D) O 

 

47. How many four- letter words, starting 
from letter L, can be formed,, from the 
letters – L, M, N, O. Words may be 
meaningful or not. 

(A) 3 (B) 4 
(C) 5 (D) 6 

 

48. What is the fraction of black 
squares to the entire picture? 

(A) 2

5
 

(B) 7

15
 

(C) 13

25
 

(D) 9

25
 

 

49. Read these two sentences - 
I. Some people are sick. 
2. Some people are being vaccinated. 
Which is the best conclusion? 

(A) All sick people 
are taking 
vaccine 

(B) All vaccinated 
people are sick 

(C) both (D) none 
 

50. If we write the four words of options 
according to their order in a dictionary, 
the third word in the order is -  

(A) procure (B) proclaim 
(C) protest (D) promote 

 

 

 

44. कौन अलग है 

(A) आल ू (B) गाजर 

(C) दभिंिी (D) टमाटर 

 

45. यदि  ‘प्रकाश ’ सिं िंदधत हैं ‘ स ’ से  तो ‘द जली’ 

सिं िंदधत हैं- 

(A) हीटर से (B) पावर प्लािंट 

(C) रेन से (D) तार  

 

46. अिंगे्रजी वर्वमाला मे  ााँए से सातवें और िााँए से आठवें 

के ठीक  ीि मे कौन अक्षर है? 

(A) L (B) M 

(C) N (D) O 

 

47. अक्षर - L, M, N, O से तीन अक्षरों के ऐसे दकतने शब्ि 

 नाएाँ जा सकते हैं जो L शुरू होता है। शब्ि अथवहीन 

या अथवपूर्व िोनों हो सकते है। 

(A) 3 (B) 4 

(C) 5 (D) 6 

 

48. काला दकया हुआ वगव पूरी आकृदत का 

कौन सा दभन्न है 

(A) 2

5
 

(B) 7

15
 

(C) 13

25
 

(D) 9

25
 

 

49. इन िो वाक्यों को पढ़ें- 

I. कुछ लोग  ीमार हैं। 

2. कुछ लोगों को टीका लगाया जा रहा है। 

स से अच्छा दनष्ट्कषव कौन सा है? 

(A) सभी  ीमार लोग टीका 

ले रहे हैं । 

(B) टीका लगवा रहे सभी 

लोग  ीमार हैं 

(C) िोनों (D) कोई नहीं 

 

50. यदि दवकस्प में दिए गए िार शब्िों को दिक्शनरी में उनके 

क्रम के अनुसार दलखा जाए तो तीसरा शब्ि कौन होगा 

है? 

(A) procure (B) proclaim 

(C) protest (D) promote 
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51. A picture is rotated first by 5400  
anticlockwise, then by 900 clockwise, and 
then by 900 clockwise Finally the picture 
rotates by-  

(A) 900 clockwise (B) 00  
(C) 1800 clockwise (D) 4500 clockwise 

 

52. The image of this picture 
 in a mirror laying on the ground 
is - 

(A)  (B)  

(C)  (D)  

 

53. This figure is made by joining 
ten straight lines. What must 
not be true about the lines of  

picture? 
(A) Six lines may be 

equal. 
(A) four lines may 

be equal. 
(C) All lines may be 

equal 
(C) none 

 

54. Which word can be formed from the 
letters of HIPPOPOTAMUS. 

(A) POTATO (A) POSTMAN 
(C) PHASE (C) POTMAS 

 

55. How many four digit numbers, more than 
6000, can be formed (without repeating 
of digits)  from the digits : 6, 1, 2, 0. 

(A) 3 (B) 4 
(C) 5 (D) 6 

 

56. A person walks along 
this path from left end 
to the right end. How 
many turns does he take 

on the path? 
(A) Seven  left turns 

and two right 
turns 

(B) Four  left turns 
and five  right 
turns 

(C) six left turns and 
three right turns 

(D) Three left turns 
and six right 
turns. 

 

 

51. एक दित्र को पहले 𝟓𝟒𝟎𝟎
  anticlockwise, से घुमाया 

जाता है ,  त  उसे  𝟗𝟎𝟎
 clockwise घुमाया जाता है, 

और त  पुनः  𝟗𝟎𝟎
 clockwise से घुमाया जाता है। 

अिंततः वह दकतना घूम जाता है  

(A) 𝟗𝟎𝟎
 clockwise (B) 𝟎𝟎

  

(C) 𝟏𝟖𝟎𝟎
 clockwise (D) 𝟒𝟓𝟎𝟎

 clockwise 

 

52. यदि जमीन की सतह पर दलटाए एक िपवर् में इस 

दित्र का प्रदतद िं  िखेा जाए तो प्रदतद िं  ऐसा 

होगा - 

(A)  (B)  

(C)  (D)  

 

53. यह आकृदत 10 सीधी रेखाओिं के दमलने 

से  ना है।. आकृदत की सीधी रेखाओिं के 

 ारे में क्या सही नहीं है? 

(A) छह  रेखाएाँ  रा र हो 

सकते हैंl. 

(A) िार रेखाएिं  रा र हो 

सकते हैं. 

(C) सभी रेखाएाँ  रा र हो 

सकते है। 

(C) कोई नही 

 

54. HIPPOPOTAMUS शब्ि के अक्षरों से कौन सा शब्ि 

 न सकता है 

(A) POTATO (A) POSTMAN 

(C) PHASE (C) POTMAS 

 

55. अिंक 6, 1, 2, 0.से 6000 से  ड़ी िार अिंक की दकतनी 

सिंख्या  नाई जा सकती है (दकसी अिंक की  पुनरावृदि ना 

हो)   

(A) 3 (B) 4 

(C) 5 (D) 6 

 

56. एक व्यदि इस दित्र के पथ पर  ाएाँ 

से िाएाँ छोर की तरफ िलता है।  वह 

इस पथ पर दकतना मोि लेता है? 

(A) सात   ााँया  मोड़ और 

िो िााँया मोि 

(B) तीन  ायािं मोड़ और 

तीन िााँया मोड़ 

(C) छह  ााँया मोड़ तीन 

िााँया मोड़ 

(D) तीन  ााँयािं मोड़ और  

छह िािंया मोड़ 

 

 

 

Ფ 

Ფ 

Ფ
 Ფ 

Ფ 

Ფ 

Ფ
 Ფ 
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57. The letter S is at the ___ place in the 
word DESIRABLE if counted from right? 

(A) Third (B) Fifth 
(C) Seventh (D) Sixth 

 

59. What is next in series? 
1

𝐴+𝐵
,

3

2𝐴+3𝐵
,

5

3𝐴+5𝐵
,

7

4𝐴+7𝐵
 ,  

(A) 9

7𝐴+9𝐵
  (B) 9

8𝐴+9𝐵
  

(C) 11

8𝐴+9𝐵
  (D) 8

7𝐴+9𝐵
  

 

60. What is the next in the series  
3(100+A), 5(99+B), 7(97+C), 9(94+D),……. 

(A) 9(90+D) (B) 10(89+D) 
(C) 11(90+E), (D) 10(90+E) 

 

57. शब्ि  DESIRABLE में S का स्थान क्या होगा यदि 

अक्षरों की दगनती िादहने तरफ से होती है।  

(A) तीसरा (B) पााँिवााँ 

(C) सातवााँ (D) छठा 

 

59. इस शृ्िंखला में अगला क्या है? 

𝟏

𝑨+𝑩
,

𝟑

𝟐𝑨+𝟑𝑩
,

𝟓

𝟑𝑨+𝟓𝑩
,

𝟕

𝟒𝑨+𝟕𝑩
 ,  

(A) 𝟗

𝟕𝑨+𝟗𝑩
  

(B) 𝟗

𝟖𝑨+𝟗𝑩
  

(C) 𝟏𝟏

𝟖𝑨+𝟗𝑩
  

(D) 𝟖

𝟕𝑨+𝟗𝑩
  

 

60. इस शृ्िंखला में अगला क्या है 

3(100+A), 5(99+B), 7(97+C), 9(94+D),……. 

(A) 9(90+D) (B) 10(89+D) 

(C) 11(90+E), (D) 10(90+E) 

 

                                                                                                                              

                                     Section – E (Math) 

61. The largest angle of a quadrilateral is two 
times the smallest angle. The other two 
angles are right angles. What is the 
largest angle? 

(A) 1200 (B) 1350 
(C) 2700 (D) 900 

 

62. The length of every edges of 
this picture is 1m.  what is the 
area of this picture? 

(A) 2m2  (B) 3m2  
(C) 4m2  (D) 5m2  

 

63. 1

200% of (50% of 
1

2
 ) 

−  200%  = ? 

(A) 1

2
 

(B) 1

4
 

(C)               0 (D)             2 
 

64.  
In this triangle 
ABC  If PQ‖BC  
then      

BRS  + 
RBC = ? 

(A) 1800 (B) 900 
(C) 3600 (D) 2700 

 

61. दकसी ितुभुवज का स से  ड़ा कौन स से छोटी कौन से 

िो गुना है। अन्य िो कोर् समकोर् है। स से  ड़ा कोर् 

का मान क्या है? 

(A) 𝟏𝟐𝟎𝟎
 (B) 𝟏𝟑𝟓𝟎

 

(C) 𝟐𝟕𝟎𝟎
 (D) 𝟗𝟎𝟎

 

 

62. इस आकृदत के सभी दकनारे की लिं ाई एक 

मीटर है। इस आकृदत का के्षत्रफल क्या है? 

(A) 𝟐𝐦𝟐
  (B) 𝟑𝐦𝟐

  

(C) 𝟒𝐦𝟐
  (D) 𝟓𝐦𝟐

  

 

63. 𝟏

𝟐𝟎𝟎% 𝐨𝐟 (𝟓𝟎% 𝐨𝐟 
𝟏

𝟐
 ) 

−  200% = ? 

(A) 𝟏

𝟐
 

(B) 𝟏

𝟒
 

(C)               0 (D)             2 

 

64.  

इस दत्रभुज ABC में 

यदि 𝐏𝐐‖𝐁𝐂  तो      

 BRS  + 

 RBC = ? 

(A) 𝟏𝟖𝟎𝟎
 (B) 𝟗𝟎𝟎

 

(C) 𝟑𝟔𝟎𝟎
 (D) 𝟐𝟕𝟎𝟎

 

 

 

P Q 

C B 

A 

S R 

 

P Q 

C B 

A 

S R 
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65.  (
1

2
−

1

3
) ÷

1

6
+  7 × (1 −

2

7
) = ? 

(A) 5 (B) 6 
(C) 

6
1

6
 

(D) 
5

1

6
 

 

66. A right angled isosceles triangle with 
length of equal sides = 𝑥  is cut into two 
equal triangles. If these are also right 
angled triangles, then the smaller right 
angled triangle has -  

(A)  Hypotenuse = 𝑥 (B) Base = 𝑥 
(C) Perpendicular = 𝑥  (D) none 

 

67. If  
1

𝑥
− 𝑥 = 0   then 

1

𝑥
+ 𝑥 = ? 

(A) 2 (B) -2 
(C) both (D) none 

 

68. When a number is first increased by 
400% and then decreased by  80%  the 
number becomes 20. What is the 
number? 

(A) 100 (B) 20 
(C) 80 (D) 10 

 

69. In this picture  
DCB =? 

(A) 500 (B) 600 
(C) 300 (D) 400 

 

70. 1−0.1

0.1×0.1
=?     

(A) 90 (B) 0.9 
(C) 9 (D) 0.09 

 

71. (100 − 50) × (99 − 50) × (98 − 50)
× … . . 100 times = ? 

(A) 100 (B) 50 
(C) 0 (D) 1000 

 

 

65. 
 (

𝟏

𝟐
−

𝟏

𝟑
) ÷

𝟏

𝟔
+  𝟕 × (𝟏 −

𝟐

𝟕
) = ? 

(A) 𝟓 (B) 𝟔 

(C) 
𝟔

𝟏

𝟔
 

(D) 
𝟓

𝟏

𝟔
 

 

 

66. एक समदद्व ाहु दत्रभुज दजसका एक कोर् समकोर् है,  

की  रा र भुजाओिं की लिं ाई  𝒙   है । इसे िो  रा र 

दत्रभुजों में काटा जाता है ।यदि ये भी  समकोर् दत्रभुज  है 

तो इसका - 

(A)  कर्व= 𝒙 (B) आधार= 𝒙 

(C) लिं  = 𝒙  (D) कोई नहीं 

 

67. 
यदि  

𝟏

𝒙
− 𝒙 = 𝟎   त   

𝟏

𝒙
+ 𝒙 = ? 

(A) 2 (B) -2 

(C) िोनो (D) कोई नहीं 

 

68. यदि दकसी सिंख्या को पहले 𝟒𝟎𝟎%   ढाया जाता है 

दफर 𝟖𝟎%  घटाया जाता है  तो सिंख्या 20 हो जाता है।. 

सिंख्या क्या है? 

(A) 100 (B) 20 

(C) 80 (D) 10 

 

69. इस आकृदत में  

DCB =? 

(A) 𝟓𝟎𝟎
 (B) 𝟔𝟎𝟎

 

(C) 𝟑𝟎𝟎
 (D) 𝟒𝟎𝟎

 

 

70. 𝟏−𝟎.𝟏

𝟎.𝟏×𝟎.𝟏
=?     

(A) 90 (B) 0.9 

(C) 9 (D) 0.09 

 

71. (100 − 50) × (99 − 50) × (98 − 50)
× … . . 100 times = ? 

(A) 100 (B) 50 
(C) 0 (D) 1000 

 

 

𝟓𝟎𝟎 

D 

C B 

A 

𝟒𝟎𝟎 

𝟗𝟎𝟎 

 

𝟓𝟎𝟎 

D 

C B 

A 

𝟒𝟎𝟎 

𝟗𝟎𝟎 
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72. In the given picture one 
angle is equal to 600 and 
other all angles are same. 
What is the value of each 

equal angles? 
(A) 400 (B) 450 
(C) 500 (D) 600 

 

73. A square shape of side 16cm is cut into 
pieces of equal areas of small squares. 
Such small squares are cut from 8 rows of 
the paper such that each row contains 8 
squares. The area of each small square is  

(A)  1 cm2 (B)  4 cm2 
(C) 8 cm2  (D) 16 cm2  

 

74. The sum of a number and it’s one fourth 
is 50.  One fifth of the number is __ 

(A) 8  (B) 12 
(C) 10  (D) 9 

 

75. 2000 persons are to be accommodated in 
rooms of a hotels. All rooms are identical. 
One room can accommodate maximum 
of 15 persons. How many such rooms will 
be required to accommodate these 
persons ?  

(A) 132 (B) 133 
(C) 134 (D) 135 

 

76. 1 − (1 −
1

2
) ÷

1

2
=

𝑥

𝑦
   

(A) 𝑥 = 0, 𝑦 = 0 (B) 𝑥 = 0, 𝑦 = 1 
(C) 𝑥 = 1, 𝑦 = 0 (D) 𝑥 = 1, 𝑦 = 1 

 

77. (12 ÷ 3) − 2 − 14 ÷ 2 − 1 − 1 = ?  
(A) −7  (B) −2  
(C) −11  (D) −9  

 

78. If  𝑥 (
1

2𝑥
− 2) = −4𝑥 , then 𝑥 = ? 

(A) 1

2
 

(B) 
−

1

2
 

(C) 
  

1

4
 

(D) 
−

1

4
 

 

 

 

72. इस आकृदत में एक कोर्  𝟔𝟎𝟎
 है 

और अन्य सभी कोर् सामान है। 

प्रत्येक समान कोर् का मान क्या 

है? 

(A) 𝟒𝟎𝟎
 (B) 𝟒𝟓𝟎

 

(C) 𝟓𝟎𝟎
 (D) 𝟔𝟎𝟎

 

 

73. 16 सेंटीमीटर की भुजा  ाले एक  गव आकार से सामान 

के्षत्रफल  ाले छोटे वगों में दवभादजत दकया जाना है। ऐसे 

छोटे  गव 8 कतारों से इस प्रकार काटे जाते हैं दक   प्रत्येक 

कतार से 8 वगव दनकलते है । प्रत्येक छोटे  गव का के्षत्रफल 

क्या है 

(A)  𝟏 𝐜𝐦𝟐
 (B)  4 𝐜𝐦𝟐

 

(C) 𝟖 𝐜𝐦𝟐
  (D) 𝟏𝟔 𝐜𝐦𝟐

  

 

74. एक सिंख्या और इसके एक िौथाई का योग 50 है । इस 

सिंख्या का पािंिवा दहस्सा क्या होगा? 

(A) 8 (B) 12 

(C) 10 (D) 9 

 

75. एक होटल के कमरों में 2000 व्यदियों को ठहराया 

जाना है। सभी कमरे एक जैसे हैं। एक कमरे में 

अदधकतम 15 लोग  ैठ सकते हैं। इन व्यदियों को 

ठहराने के दलए ऐसे दकतने कमरों की आवश्यकता 

होगी? 

(A) 132 (B) 133 

(C) 134 (D) 135 

 

76. 1 − (1 −
1

2
) ÷

1

2
=

𝑥

𝑦
   

(A) 𝑥 = 0, 𝑦 = 0 (B) 𝑥 = 0, 𝑦 = 1 

(C) 𝑥 = 1, 𝑦 = 0 (D) 𝑥 = 1, 𝑦 = 1 

 

77. (𝟏𝟐 ÷ 𝟑) − 𝟐 − 𝟏𝟒 ÷ 𝟐 − 𝟏 − 𝟏 = ?  

(A) −𝟕  (B) −𝟐  

(C) −𝟏𝟏  (D) −𝟗  

 

78. 
If  𝒙 (

𝟏

𝟐𝒙
− 𝟐) = −𝟒𝒙 , तो  𝒙 = ? 

(A) 𝟏

𝟐
 

(B) 
−

𝟏

𝟐
 

(C) 
  
𝟏

𝟒
 

(D) 
−

𝟏

𝟒
 

 

 

 

 

𝟔𝟎𝟎 

 

𝟔𝟎𝟎 



                                                                                                     
 

12 | P a g e  
 

                                                                                 
SMILE School Banka, www.smileschool.in STARS – 2023  CLASS VIII 

79. 5 metre + 70  centimetre + 32 millimetre  
= _________ centimetre 

(A) 570.32 (B) 573.2 
(C) 57.032 (D) 57032 

 

80. How many triangles are 
possible in the picture? 

(A) 6 (B) 7 
(C) 8 (D) 9 

 

79. 5 m + 70  cm + 32 mm  = _________ cm 

(A) 570.32 (B) 573.2 

(C) 57.032 (D) 57032 

 

80. इस दित्र में दकतने दत्रभुज सिंभव 

है? 

(A) 6 (B) 7 

(C) 8 (D) 9 
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                                                                                     ROUGH WORK 

 

 

 

 


